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2.4 The Quotient Rule

The Quotient Rule:
If h( )_ f( ) ,Then h.(x): f (X) g(x) = f(x)g (X)
9(x) [g(x)’
In Leibniz notation: i( 4 ) =
dx\\ Vv
Pr i tr
if h(x)- E ; then h(x)g(x) = £(x)

Use product rule to take derivative of f(x)

h'(x)g(x) + h(x)g'(x) = f'(x)

Solve for h'(x)
f'(x) - h(x) g'(x)

h'(x)=
b9 g(x)
Substitute . h(x)= —— 10
g(x)
£(x) - fﬁ; g'(x)
h'(x)=
6o g(x)

Simplify (multiply by g(x )

f'(x) g(x) - f(x) g'(x)
[g(x))’

h'(x)=
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Eg. 1 Find the derivative. Simplify.
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Eg. 2 Determine the slope of the tangent to h(x) at x=2.
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Eg. 3 Determine the point(s) on the curve y= 3
where the tangent line is parallel to the line x + 4y = 1.
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Dear Ma+th,
| am sick and tired of {inding your "X".
Just accePt the fact that she is Qone.
MOVE ON, DuUDE.
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